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CLOZE TEST

Complete this passage by inserting in the blanks ONE word which makes sense, where possible or necessary (contracted forms such as don’t or he’s count as one word)  (0.5 each) 

SINGLETONS ARE ON THE INCREASE
Living _________(1) rather than meeting Mr or Mrs Right is the goal a growing number of young people are (2)___________ to achieve.

A survey ________ out (3) by Malcolm Williams from the University of Plymouth shows that the longer people live on their own, the ________ (4) likely they are to move in with a partner, in particular men. However, after the _________ (5) of 45, there is a gender switch – more women start to leave their partners and live by ____________ (6), sometimes because children have __________(7) up and ________ (8) home.

In _______ (9) of the fact that there has only been a 5 per cent increase ________(10) the population in that period, over the last 30 years, the number of UK households with just one occupant has risen _______ (11) 31 per cent. The figures have serious implications for the housing __________ (12), with a huge shortage of affordable housing for the young right across the country. 

This tendency also marks the growth of the culture of 'individualisation', with _________ (13) men and women unwilling to sacrifice their personal __________ (14) and income to co-habit or get married.
34-____________ (15) singleton Nicola Johnson, ____________ (16) has lived alone _______ (17) she was in ___________ (18) late teens, says: “I’m happy with my life. I’m used to _________ (19) on my own and I’m not ______________ (20) for Mr Right. I’m really fed _______ (21) with people always _________ (22) me why I don’t want to get married. They think there _________ (23) be something wrong with me just because I’m not desperate to _______ (24) weight or find a husband. If I _________ (25) a partner, I wouldn’t be able to go out for dinner, or to clubs, with my girlfriends. I ________ (26) rather have good friends and the freedom to lead my life as I want. The time I have, enables me to spend more of it ____________ (27) after my elderly grandmother. My grandfather died not so __________ (28) ago, and I can be _________ (29) my granny as often_________ (30) I like”.
READING COMPREHENSION
Children imprisoned by their parents’ fear of crime

1. In the 1970s, 80% of children in the UK walked to school unaccompanied. Now only 9% do. The rise of the motor car, combined with terror of crime, has turned children into sedentary captives. Where old-fashioned images show children playing out of doors, in the street or in parks, these days they are more likely to be found slouched over video games and television sets. Children today use up an estimated one-quarter fewer calories than they did in the 1930s and experts, worried about the long-term health effects of childhood inactivity, are warning of a future health crisis.

2. One physiologist who checked children’s heart rates during school physical education activities found that only a handful ever got their heart rates up through exercise sufficiently to be of any benefit. One researcher was struck with horror when children came round to his door asking him to sponsor a four-mile walk, as if this was a great challenge. He used to walk a four-mile round trip to school every day of the week in his own childhood.

3. Some researchers are now saying that an inactive lifestyle brings with it a risk factor equivalent to a packet of cigarettes a day, or even that it may be a higher risk than either smoking or high blood pressure. If so, that is a serious cause for concern for our children’s generation.

4. What has been the chief cause of this disastrous change in children’s lives? The car, the video game, and the TV have played their part, but the most important factor is the unreasonable fear of crime. Children are imprisoned by their parents’ fear. Women and old people are afraid to go out alone and at night, but the effect on children is far worse. Yet the chances of a child being hurt or killed by a stranger are so small that it is a tragedy to think of all those millions of children living a confined life indoors, because of the rare horror story that captures the imagination.

5. If it weren’t for this largely imagined danger, most parents would like the idea of their children walking to school and learning independence at a suitable age. But the way crimes are reported by the popular press greatly increases fear of crime. If something horrible does happen to a child, there is an implied question ‘What were the parents doing letting that child out alone?’ which is deeply unfair.

6. We have to start replacing fear of crime, largely unrealistic, with a new fear for our children: of physical damage through idleness, and psychological damage through over-protective attitude that never lets them explore the world around them.

A. Choose the answer (a, b, c, or d) which you think best fits, according to the text. Circle the chosen letter (0.5 each)

1.
a) One researcher used to walk 4 miles to school every day.

b) One researcher used to walk 2 miles to school and back every day.

c) The author used to walk 4 miles to school every day.

d) The author used to walk 2 miles to school and back every day.

2.
a) The risk of children having high blood pressure in later life is increasing.

b) The main reason for children’s unhealthiness is they spend too much time in front of their TVs and PCs.

c) The main reason for children’s unhealthiness is they don’t do enough physical activity.

d) Children’s heart rates are too high and therefore they have high blood pressure.

3.
a) It is much more dangerous for children to play outside nowadays.

b) The media have contributed to the general feeling of fear experienced by many parents.

c) The media report the increase of fear of crime.

d) The media exaggerate the increase in parents’ anxieties about their children.

4.
a) Children’s fears are due to horror stories they are told by their parents.

b) Children’s fears are just a product of the imagination.

c) An over-protective attitude to children is harmful.

d) Letting children go out alone at night is dangerous.

B. Explain the underlined words and phrases (0.5 each)

5. walked to school unaccompanied …………………………………………………………..

6. only a handful……………………………………………………………………………….
7. a risk factor equivalent to……………………………………………………………………
C. Find words or phrases in paragraphs 1, 2 , and 3, that mean  (0.5 each)

8. sitting in a lazy way…………………………………………………………………………

9. approximate …………………………………………………………………………………

10.  worry or anxiety ……………………………………………………………………………

WRITTEN PRODUCTION

According to the passage, parents’ fears can prevent children from becoming independent at a suitable age. Do you think this might affect their behaviour once they are adults?  (80-100 words) 

(5 points)

LISTENING

You will be given 3 minutes to read the questions in Listening 1. You will hear Listening 1 twice with a short break in between. After hearing the texts you will have 5 minutes to check your answers to Listening 1, and read the questions to Listening 2. You will then hear Listening 2 twice with a short break in between. You will then be given 3 minutes to complete the questions. 

You may make notes while listening on the back of this sheet.
The shape of the future

Listening 1

Listen to a market research interview about future changes. As you listen, tick to show how probable the interviewer thinks the changes are.

	Prediction
	Definite
	Likely
	Possible
	Unlikely
	Definitely not

	1. Cash will disappear being replaced by debit and credit cards.
	
	
	
	
	

	2. Vehicles will no longer be powered by fossil fuels.
	
	
	
	
	

	3. Congestion charges will be introduced to reduce traffic congestion in large cities.
	
	
	
	
	

	4. At least half of the workforce will be able to work from home.
	
	
	
	
	

	5. Smoking will be a thing of the past.
	
	
	
	
	


Listening 2

Listen to the following interview with an Internet user, Ivor Lovell. Answer the questions.

1. How much does Ivor pay to be connected to the Internet? ………………………………………………………………………………………………

2. Why does he contact friends by e-mail, rather than by phone?

………………………………………………………………………………………………

3. What does Ivor use the Internet for mostly?

………………………………………………………………………………………………

4. Who does the Internet enable him to contact?

………………………………………………………………………………………………

5. Why does he contact these people?

………………………………………………………………………………………………
Cognome………………….…………….


Nome………………………...…………...


Matricola……………………………...














Foglio n. …………………………													











1
2

